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𝑎4 = 𝑎 × 𝑎 × 𝑎 × 𝑎

𝑎𝑛 = 𝑎 × 𝑎 × 𝑎 × 𝑎 × … × 𝑎

𝑛

Exemples :  

23 = 2 × 2 × 2 

115 = 11 × 11 × 11 × 11 × 11 

 

 

 

 

 



 

 

𝑎

𝑛

𝑎1 = 𝑎  
      𝑎0 = 1  
      0𝑛 = 0  
      1𝑛 = 1  

 

• (−3)4 = (−3) × (−3) × (−3) × (−3) = 81

o −34   = −3 × 3 × 3 × 3 = −81 

(−5)2  ;  −12  ;  (−1)2  ;  −33 ;  (−2)2  ;  −72  ;  (−9)0 ;  −90

25 ; −1 ;  1 ;  −27 ;  4 ;  −49 ;  1 ; −1

 

𝑛 𝑝

𝑎𝑛 × 𝑎𝑝 = 𝑎𝑛+𝑝
𝑎𝑛

𝑎𝑝
= 𝑎𝑛−𝑝

(𝑎𝑛)𝑝 = 𝑎𝑛×𝑝 (𝑎 × 𝑏)𝑛 = 𝑎𝑛 × 𝑏𝑛

𝑎−1 =
1

𝑎
𝑎−𝑛 =

1

𝑎𝑛

Exemples :  

151 = 15 

1030 = 1 

04 = 0 

112 = 1 

 



 

 

 

 

• 32 = 9 √9 =  3

• 2,62 = 6,76 √6,76 = 2,6

• √2 ≈ 1,4142

• √3  ≈ 1,732

√2 √3

𝑎

𝑎

√0 = 0  √25 = 5 √100 = 10

√1 = 1              √36 = 6          √121 = 11

√4 = 2              √49 = 7 √144 =
12

√9 = 3              √64  = 8         √169 = 13

√16 = 4 √81  = 9

√−5 =  ?

−5 −5

√−5



 

 

 

𝑎 𝑏

√𝑎 × √𝑏 = √𝑎 × 𝑏
√𝑎

√𝑏
= √

𝑎

𝑏
(𝑏 ≠ 0) (√𝑎)

2
= 𝑎

√𝑎2 =  𝑎

   √𝑎 + √𝑏 ≠ √𝑎 + 𝑏 √𝑎 − √𝑏 ≠ √𝑎 − 𝑏


